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|- (4 points)

-> - -
In the space referred to a direct orthonormal system (O ; i, j , k), consider the plane (P) of
equation x+y+z —4=0 and the points A (3;1;0),B(1;2;1),C(1;1;2)andE(2;0;-1).
1) Prove that the triangle ABC is right angled at B.
2) a- Verify that the points A, B and C belong to the plane (P).
b- Write a system of parametric equations of the line (d) that is perpendicular to plane (P)
at point A, and verify that the point E belongs to (d).
3) Designate by (Q) the plane that passes through A and is perpendicular to (BE).
Write an equation of (Q).
4) The planes (P) and (Q) intersect along a line (D).

a- Prove that the lines (D) and (BC) are parallel.
b- M is a variable point on (BC), prove that the distance from M to plane (Q) remains constant.

I1- (4.5 points)

A bag S contains eight bills: four bills of 10 000LL, three of 20 000LL and one of 50 O00LL.
Another bag T contains also eight bills : three bills of 10 000LL and five of 20 O00LL.
1) Two bills are drawn, simultaneously and randomly, from the bag S.
Calculate the probability of each of the following events:
A : «the two drawn bills are of the same category »
B : «the sum of values of the two drawn bills is 30 O00LL ».
2) One of the two bags S and T is randomly chosen, after which two bills are
simultaneously and randomly drawn from this bag.
Consider the following events:
E . «thechosenbagis S »
F : «the sum of values of the two drawn bills is 30 000LL »
Calculate the probabilities P(F ~E) and P(F N E). Deduce P(F).

3) We draw, randomly, one bill from the bag S and one bill from the bag T.
Let X be the random variable that is equal to the sum of the values of the two drawn bills.

a- Verify that P(X = 60 000) = % :

b- Determine the probability distribution of X and calculate its mean ( expected value).



I11- (3.5 points)
- -
In the complex plane referred to a direct orthonormal system (O ; u, v), consider the points
A and B of affixes 1 and -1 respectively. Let (C) be the circle of center A and of radius 1.
The exponential form of the affix z of a point M on (C), other than O, is given by z =re'.
Let M’ be the point of affix z' such that z’ :lei(”e). A
r
M

1) Show that z'xZ =-1.
2) Show that the points O, M and M" are collinear.

3) a- Justify that | z —1|=1.

v

b- Prove that| z' + 1| =] Z'|, and deduce that
M’ moves on a line (d) to be determined. B © A

4) Determine the points M on (C) for which z'=-z.
©)

V- (8 points)
A- Consider the differential equation (E): y" —4y' +4y = 4x% —16x+10.

Let z=y —x?% +2x.
1) Write a differential equation (E') satisfied by z.

2) Solve (E") and deduce the general solution of (E) .
3) Determine the particular solution of (E) whose representative curve, in an orthonormal

system, has at the point A(0 ;1) a tangent parallel to the axis of abscissas.

B- Letf be the function that is defined on IR by f(x) = 82X +x%-2x.
- -

Designate by (C) the representative curve of f in an orthonormal system (O; i, j).

1) a- Calculate lim f(x) and lim f(x).
X—>+00 X —>—00

b- Calculate f(1) and f(-1.5) in their decimal forms.
2) The table below is the table of variations of the function f', the derivative of f.

0 + o0

/v+oo
a- Determine, according to the values of x, the sign of f'(x) .

b- Set up the table of variations of f.

3) Draw the curve (C). X
4) Let F be the function that is defined on [0 ; + oo[ by F(X) = J-f(t)dt
0

a- Determine the sense of variations of F.
b- What is the sign of F(x) ? Justify your answer.

X |— oo

f(x)

o0
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I Answers Marks
1 | BA(2:-1:-1), BC(0;-1:1); BA.BC=0 then ABC is right at B &
Xpa+Ypa+2,—-4=3+1+0-4=0; Ae(P).
24| Xg+VYg+2,-4=1+2+1-4=0; Be(P). Y
Xc+Yc+2Z.-4=1+1+2-4=0; Ce(P).
2b Klp(l;l;l) is a director vector of (d) then (d) : x=A+3 ; y=A+1;z=A 1
Fory=0wehave A=-1,thenx=2and z=-1, hence E< (P).
3 BE (1;-2;-2) isnormal to (Q),s0 (Q):x—-2y—-2z+r=0. 1
Ac(Q) thenr=-1; (Q):x-2y-2z-1=0.
X z-4=0 x=3
Oy TYTeTAs (D)y =—t+1 then Vo (0:—1:1)= BC : (BC)// (D).
X—-2y—-2z-1=0 Lt
4. »OR :(BC) is perpendicular to (AB) and it is orthogonal to (EA), so (BC) is 1
perpendicular to plane (EAB) and especially to (EB) , on the other hand since (EB)
is perpendicular to (Q) then (BC) is parallel to (Q) . The plane (P), which contains
(BC), cuts (Q) along (D) parallel to (BC).
x=1
) ) ) ) ) . [1+2m—-4-2m—-2-1|
BC):qy=—-m+2; M(1;-m+2;m+1); d(M; = =2.
ib (BC):qy ( ); d(M;(Q)) Tra Y,
z=m+1
»OR : (BC) // (D) and (D)= (Q) ,s0 (BC) // (Q) . Since M e (BC) ; d(M;(Q)) = cst.
Il Answers Marks
2 2
P(A) = P[(10 000, 10 000) or (20 000 , 20 000)] =C“;2C3=i.
1 C? 28 .
1 1
P(B) = P(10 000, 20 000) = C“LZQ = g
8
1 3 3
P(FNE)=P(E)xP(F/E) = =x—=—"—,
(FAE)=P(E)xP(F/E) = S x— =
— —. 1 CyxC; _1.15_15
2 | P(FNE)=P(E)xP(F/E) = =x— . 1Y
(FNE) = P(E)xP(F/E) 3 S B 5% ;
15 27
P(F)= P(FNE)+P(FNE)="+>-=
") (FAE)+P( )145656
3.a | P(X=60000) =P(50 000, 10 000) = 1/8 x 3/8 = 3/64. Yo
X=X, 20 000 30000 40 000 60 000 70000
o | 4,3.12 14533 213515 | 3 |15 5
3b i 8864 88 88 64 8864 64 8 8 64 1%
10 000

E(X) = (24-+87+60+18.+35)x—_ = =35 000.




" Answers Marks
1 z'xE:Eei(’”e) xre 0= g =_1. Y
r
- - - - - -
(u,OM)=6,(u,OM)=n+6 ,s0 (OM,OM')=(n+60)—6=m, hence O, M and
o | M’ are collinear. 1,
Lz 1 ., 1 or 1 =2 , .
POR: —=-=;72=--2,50 OM'=-—-0M andthus O, M, M’ are collinear
7 (2 2 (2

3.8. |Z—1|=|ZM—ZA|:AM:1 ]/2
2 +1] = ;1+1‘= G PO O e O T T e B SO )

3.b z z | |z| |zl |z 1z |z] 1
lzp —2zg |=lzp | 5 BM? =0OM’ ; M’ moves on the perpendicular bisector (d) of [OB].
2’=-7; —zxz=-1; zxz=1; |z|°=1; OM?=1; OM =1, then M belongs to the
circle (C) of center O, radius 1; but M belongs to (C). Then points M are the two points

4 | of intersection of (C) and (C). 1
»OR:|-z+1|=|-2z]|; |z-1]=|z| ; AM =OM ; M moves on the perpendicular
bisector (D) of [OA].Then points M are the two points of intersection of (D) and (C).

v Answers Marks
Z=y-2x+2etz2’=y" -2

Al | 2742 —4(Z +2x=2) + 4z +X*=2X) = 4x* = 16 x + 10 s
2" —47+4z=0

A2 |[r"—4r+4=0;r=2 doubleroot;z=(Ax +B)e™and y = (Ax + B)e™ + x* -2x 1

A3 y(0)=1;B=1 1

[ y'(0) = 1 with y'(x) = Ae® + 2(Ax + B)e® + 2x = 2: A+ 2B =2: A=0; y= e® + x* -2x
B.ia | lim f(x)= lim [eZ* +x(x=2)] =+ ; lim f(x)= lim [e%* +X(x — 2)] = 4% 1,
X—>+00 X—>+00 X—>—00 X—>—00
B.lb|f(1)=6.39 ;f(-15)=5.30. Yo
B.2a |f'(x)<0forx<0; f‘(x)>0 forx>D0. 1
B.3 B.2.b
X1_ 0 + 00
Ya
B.2.b f'(x) — 0 +
N B.3
f(X) + o0 0
%
1
B.4.a | F’(x) =f(x) >0 for x>0 (min (f(x)) =1), then F is strictly increasing over [0 ; + oo [ . 1
X
f(t) > 0 and x > 0 then jf(t)dt >0,s0 F(x)>0.
1

B.4.b 0

»OR : Fis increasing and F(0) = 0, then F(x) > 0.
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